ne7e- xData = {0.0, 0.035, 0.070, O.
0.210, 0.245, 0.280, 0.310, -0.035, -0.070, -0.105, -0.140,
-0.175, -0.210, -0.245, -0.280, -0.315, -0.350, -0.385, -0.420}

oute76l= {0., 0.035, 0.07, 0.105, 0.14, 0.175, 0.21, 0.245, 0.28, 0.31, -0.035, -0.07,
-0.105, -0.14, -0.175, -0.21, -0.245, -0.28, -0.315, -0.35, -0.385, -0.42}

105, 0.140, 0.175,

ThetaMin
in77):= thetaM nbData = {-0.2, -0.2, -0.18, -0.17, -0.17, -0.17, -0.16, -0.14, -0.12, -0.12, -0.22,
-0.23, -0.22, -0.24, -0.24, -0.24, -0.26, -0.27, -0.29, -0.30, -0.30, -0.30, -0.30}

ous771= {-0.2, -0.2, -0.18, -0.17, -0.17, -0.17, -0.16, -0.14, -0.12, -0.12, -0. 22,
-0.23, -0.22, -0.24, -0.24, -0.24, -0.26, -0.27, -0.29, -0.3, -0.3, -0.3, -0.3}

ine78):= thetaM nPoints = Tabl e[{xData[[i ]], thetaM nDatal[[i]]}, {i, 1, Length[xData]}]

ouferel= {{0., -0.2}, {0.035, -0.2}, {0.07, -0.18},
(0.14, -0.17}, {0.175, -0.17},
(0.31, -0.12}, {-0.035, -0.22},
(-0.14, -0.24), {-0.175, -0.24},

{0.105, -0.173,

(0.21, -0.16}, {0.245, -0.14}, {0.28, -0.12},
(-0.07, -0.23}, {-0.105, -0.22},

(-0.21, -0.24}, (-0.245, -0.26},

{-0.28, -0.27}, {-0.315, -0.29}, {-0.35, -0.3}, {-0.385, -0.3}, {-0.42, -0.3}}
Li st Pl ot [t het aM nPoi nt s]
—015] ’
~0.204 .
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nes3= fitl=FindFit[thetaM nPoints, a+b=xy, {a, b}, y]

outes3)= {a - -0.202265, b - 0.25014}

in[ess]:= Show[Li st Pl ot [t hetaM nPoi nts], Plot [a+b+y /. fitl, {y, -0.42, 0.31}]]

out[685]=
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ThetaMax

nesel:= thetavaxbData = {0.14, 0.15, 0.16, 0.17, 0.18, 0.18, 0.20, 0.21, 0.22, 0.22,
0.13, 0.12, 0.11, 0.09, 0.09, 0.08, 0.06, 0.05, 0.04, 0.04, 0.02, 0.01}

outese= {0.14, 0.15, 0.16, 0.17, 0.18, 0.18, 0.2, 0.21, 0.22, 0.22,
0.13, 0.12, 0.11, 0.09, 0.09, 0.08, 0.06, 0.05, 0.04, 0.04, 0.02, 0.01}
ines7):= t hetaMaxPoints = Tabl e[{xData[[i ]], thetaMaxDataf[[i 11}, {i, 1, Length[xData]}]

oues7= ({0., 0.14}, {0.035, 0.15}, {0.07, 0.16}, {0.105, 0.17}, {0.14, 0.18}, {0.175, 0. 18},
(0.21, 0.2}, {0.245, 0.21}, {0.28, 0.22}, {0.31, 0.22}, {-0.035, 0.13}, {-0.07, 0.12},
(-0.105, 0.11}, {-0.14, 0.09}, {-0.175, 0.09}, {(-0.21, 0.08}, {-0.245, 0.06},

(-0.28, 0.05}, {-0.315, 0.04}, {-0.35, 0.04}, {-0.385, 0.02}, {-0.42, 0.01})

in[ess]:= Li st Pl ot [t het aMaxPoi nt s]
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o= fit2 =FindFit[thetaMaxPoints, a+b=xy, {a, b}, y]

oueeoj= {a > 0. 136882, b - 0. 294317}

in[eo1]:= Show[Li st Pl ot [t het aMaxPoi nts], Plot [a+b=+y /. fit2, {y, -0.42, 0.31}]]
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Parameter D

in[e92):= parameterDData = {-0.00647944, -0.0355317, -0.0613432, -0.0885205, -0.11655, -0.136587,
-0. 148857, -0.171177, -0.186836, -0.199156, 0.021702, 0.0605701, 0.102354, 0.135523,
0.197576, 0.250622, 0.283811, 0.356899, 0.415887, 0.474355, 0.55364, 0.569349}

outfe92= {-0. 00647944, -0.0355317, -0.0613432, -0.0885205, -0.11655, -0.136587, -0.148857,
-0.171177, -0.186836, -0.199156, 0.021702, 0.0605701, 0. 102354, 0. 135523,
0.197576, 0.250622, 0.283811, 0.356899, 0.415887, 0.474355, 0.55364, 0.569349}
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in[693):= par amet er DPoi nts = Tabl e[{xDataf[[i ]], paranmeterDData[[i 1]}, {i, 1, Length[xData]}]

oureoz- ({0., —0.00647944}, (0.035, -0.0355317}, {0.07, -0.0613432},
(0.105, -0.0885205}, {0.14, -0.11655}, {0.175, -0.136587},
(0.21, -0.148857}, {0.245, -0.171177}, {0.28, -0.186836), {0.31, -0.199156},
(-0.035, 0.021702}, {-0.07, 0.0605701}, {-0.105, 0.102354}, {-0.14, 0.135523},
(-0.175, 0.197576}, {-0.21, 0.250622}, {-0.245, 0.283811}, {-0.28, 0.356899},
(-0.315, 0.415887)}, {-0.35, 0.474355}, {-0.385, 0.55364}, {-0.42, 0.569349})

in[eo4]:= Li st Pl ot [par anet er DPoi nt s ]

° L]
¢ 041
L]
L]
L]
Out[694]= . 02-
L]
L]
L]
L L L
-04 -03 -0.2 -0.1 L o 0.1 0.2 0.3
° L]
L]
L ° L]

—02} e

ineee)= fit3 =FindFit [parameterDPoints, a+bxy+c +y2, {a, b, c}, y]
oufeos)= {a - -0.00623434, b - -0. 954544, c - 1. 1391}

inee7)= Show([Li st Pl ot [par amet er DPoi nts], Plot [a+bxy +c xy? /. fit3, {y, -0.42, 0. 31}]]

0.6}

Out[697]=
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Parameter C

Ieog)~ paranmeterCData = {3.33335, 3.16968, 2.98353, 2.72128, 2.4465, 2.2736
2.22239, 1.97752, 1.81807, 1.67571, 3.65064, 4.00968, 4.28407, 4.62829
4.93102, 5.22427, 5.57952, 6.21019, 6.6393, 7.11788, 7.20648, 6.91998)

outegg]= {3. 33335, 3.16968, 2.98353, 2.72128, 2.4465, 2.2736, 2.22239,
1.97752, 1.81807, 1.67571, 3.65064, 4.00968, 4.28407, 4.62829,
4.93102, 5.22427, 5.57952, 6.21019, 6.6393, 7.11788, 7.20648, 6.91998}

in[703]:= par amet er CPoi nts = Tabl e[{xData[[i ]], parameterCDatal[[i 1]}, {i, 1, Length[xData] -2}]
ouf7o3)= {{0., 3.33335}, {0.035, 3.16968}, {0.07, 2.98353}, {0.105, 2.72128},

{0. 14, 2.4465}, {0.175, 2.2736}, {0.21, 2.22239}, {0.245, 1.97752},

{0.28, 1.81807}, {0.31, 1.67571}, {-0.035, 3.65064}, {-0.07, 4.00968},

{-0. 105, 4.28407}, {-0.14, 4.62829}, {-0.175, 4.93102}, {-0.21, 5.22427},

{-0. 245, 5.57952}, {-0.28, 6.21019}, {-0.315, 6.6393}, {-0.35, 7.11788}}
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in[704]:= Li st Pl ot [par anet er CPoi nts ]

. 7;

out[704]=
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in7os)= fit4 =FindFit [parameterCPoints, a+bxy+c +*y2, {a, b, c}, y]
ou705- {a - 3.39098, b - -7.68195, ¢ - 7. 76604)

in7o6)= Show([Li st Pl ot [par amet er CPoi nts], Plot [a+bxy +c xy2 /. fit4, {y, -0.42, 0. 31}]]
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Parameter B

in[7071:= paramet er BData = {10.9876, 11.0254, 10.7132, 9.77458, 9.75175, 9.44371,
8. 79157, 8.65562, 7.82282, 7.1975, 12.5004, 13.9117, 14.0511, 16. 1596,
14.8227, 14.8316, 17.2507, 19.181, 20.4188, 21.4516, 19.1671, 16.9543}

out707)= {10. 9876, 11. 0254, 10.7132, 9.77458, 9. 75175, 9. 44371,
8. 79157, 8.65562, 7.82282, 7.1975, 12.5004, 13.9117, 14.0511, 16. 1596,
14. 8227, 14.8316, 17.2507, 19.181, 20. 4188, 21.4516, 19. 1671, 16. 9543}

in[716):= paramet er BPoi nts = Tabl e[{xData[[i ]], parameterBData[[i 11}, {i, 1, Length[xData] -2}]

ou7ie= {{0., 10.9876}, {0.035, 11.0254}, {0.07, 10.7132}, {0.105, 9.77458},
(0.14, 9.75175}, (0.175, 9.44371}, (0.21, 8.79157}, {0.245, 8.65562},
(0.28, 7.82282}, {0.31, 7.1975}, {-0.035, 12.5004}, {-0.07, 13.9117},
(-0.105, 14.0511}, {-0.14, 16.1596}, {-0.175, 14.8227}, (-0.21, 14.8316)},
(-0.245, 17.2507}, {-0.28, 19.181}, {-0.315, 20.4188}, {(-0.35, 21.4516})
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in[717):= Li st Pl ot [par anet er BPoi nt s ]
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n7is= fit5 = Fi ndFit [par amet er BPoi nt s, a+bxy+cxy? {a b, c}, y]
ou71g- {a—11.7304, b - -19. 2305, ¢ - 21. 1691)

in719)= Show([Li st Pl ot [par amet er BPoi nts], Plot [a+bxy +c xy2 /. fit5, {y, -0.42, 0. 31}]]

Out[719]=
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Parameter A

7201~ paramet er AData = {11.3826, 11.8946, 11.7563, 10.4657, 16.1649, 16.3601,
8.89655, 11.9577, 12.5457, 14.274, 13.7327, 16.6537, 15.1097, 20.6233
13. 4402, 12.0602, 18.4406, 20.4572, 22.1207, 21.7656, 16.1192, 12.5768}

out720= {11. 3826, 11.8946, 11.7563, 10.4657, 16. 1649, 16. 3601,
8.89655, 11.9577, 12.5457, 14.274, 13.7327, 16. 6537, 15.1097, 20. 6233,
13. 4402, 12.0602, 18. 4406, 20.4572, 22.1207, 21. 7656, 16. 1192, 12.5768}

in[721):= paramet er APoi nts = Tabl e[{xData[[i ]], paranmeterAData[[i 1]}, {i, 1, Length[xData]}]

ou721= {{0., 11.3826}, {0.035, 11.8946}, {0.07, 11.7563}, {0.105, 10.4657}, {0.14, 16. 1649},
(0.175, 16.3601}, {0.21, 8.89655}, (0.245, 11.9577}, {0.28, 12.5457}, {0.31, 14.274},
(-0.035, 13.7327}, {-0.07, 16.6537}, {-0.105, 15.1097}, {-0.14, 20.6233},

(-0.175, 13.4402}, {-0.21, 12.0602}, {-0.245, 18.4406}, {-0.28, 20.4572)},
(-0.315, 22.1207}, {-0.35, 21.7656), {-0.385, 16.1192}, {-0.42, 12.5768}}
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in[722):= Li st Pl ot [par anet er APoi nt s ]
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in723)= fit6 = FindFit [parameter APoints, a+bxy+c +*y2, {a, b, c}, y]
ou723- {a - 14.3041, b - -8. 67694, ¢ - 3.53875)

in7241= Show[Li st Pl ot [par amet er APoi nts], Plot [a+b+y+cxy?/. fit6, {y, -0.42, 0.31}]]
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